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(HAZ: T1)

BERT 740 HIERH at Bt A
7,681,181 133,974 7,815,155
633,818 133,974 767,792
7,441 133,974 141,415

(WAL T-F)

BERT 740 HIERH at Bt A
8,084,611 65,586 8,150,197
7,802,787 65,586 7,868,373
4,206,703 11,856 4,218,559
1,672,512 53,730 1,726,242

(A7 T17)

BERT 740 HHIEAH t ft A
769,814 2,970 772,784
0 2,970 2,970
0 2,970 2,970

(A7 T-1T)

BERT 740 A IEAH at Bt A
1,262,976 24,915 1,287,891
543,136 24,915 568,051
198,803 24,915 223,718
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(HEAT: TM)

BEWRT ERH T IEAE &t B Cl|
7,681,181 133,974 7,815,155 B i e RO AL AT DR
633,818 133,974 767,792 ;ﬂgﬁ%gg%g&;ﬁ; IVABRIE IR SR
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7,441 133,974 141,415
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PR %A MHIEAA 7t i Cl
8,084,611 65,586 8,150,197
7,802,787 65,586 7,868,373
4,206,703 11,856 4,218,559
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1,672,512 53,730 1,726,242
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1,262,976 24,915 1,287,891
543,136 24,915 568,051
198,803 24,915 223,718
197,315 24,915 222,230
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